
JAKES LIFT KITS  
YAMAHA G14-G22 Upper Brush Guard  

PART # 7058  
Hardware 

7/16 x 2 ¼ -8 

7/16 Nuts-4 

7/16 Washers-12 

1 ¾” Clamps 

5/16 x ¾ -4 

5/16 Locknuts-4 

¼ x 1 ½ -4 

¼” Locknuts -4 

Front Mounting Plate-2 

Rear Hoop Mounting 

Plate-2 

 

 

 

 

 

 

 

INSTALLATION INSTRUCTIONS: 

1.  Remove the front cowl/dash trim from the cart. 

2. Unbolt the bottom portion of the front cowl from the cart. 

3. Bolt the supplied mounting plates to stock frame and drill 

the both holes as shown in FIGURE 1 using a 3/8” drill 

bit. 

4. Remove the front mounting plate and place behind the 

body as shown in FIGURE 2. 

5. Using the stock bolts, washers and nuts, bolt the 

mounting plate to the body on both sides of the cart. 

6. Re-install the stock rubber trim. 

7. Hold the seat back mounting plates to the rear seat back and mark holes for drilling.  You want to keep 

the clamp off the body, so put a 1/8” piece of cardboard under the clamp to insure the clamp will not hit 

the body when mounted as shown in Figure 3. 



8. Using a 1/4” drill bit, drill both holes on both seat 

back supports. 

9. Bolt the rear hoop mounting plates to the cart 

using the supplied ¼ x 1 ½ bolts and locknuts. 

10. Mount the rear hoop ITEM A to the cart using the 

supplied clamps as shown in Figure 4. 

11. Place the grab handle bars ITEM B to on the rear 

loop as shown in Figure 5.  Do not bolt at this 

time. 

12. Slide the front down rails ITEM C into the top 

grab handle bars ITEM C and mount the bottom 

mounts to the front mounting plates using the 

supplied 5/16 x 3/4 bolts and locknuts as shown 

in Figure 6. 

13. Using the supplied 7/16 x 2 ¼ bolts, nuts, & washers bolt the upper brush guard together.  NOTE- 

upright holes may need reamed with a 7/16” drill bit. 

14. Securely tighten all bolts. 

 

 

 

 

 

 

 

 

WARNING: This device does not provide roll-over 

protection.  NON-R.O.P.S. RATED 
   

 

 

 

 

 

 


